George Risk Industries (800) 523-1227

| Home | | Products | | About GRI | | Contact GRI | | Where to Buy | | Testimonials | I What's New!

Track and Gate Mounting Kits

s
V2SN

8450-3
Combination Post Mount

4
]i

8299-G
Economy Track Mount

8297
Industrial Track Mount

Product Specification PDF's a About PDF

[Home] [Products] [What's New!] [Security Products] [Data Entry Peripherals] [Pushbutton Switches]
[Custom Engraved Keycaps] [Proximity Sensors] [Contact GRI] [About GRI]

Can't find what you are looking for?




T G
MRSSST?I\I:I(? Kl’?; ; @ @ 0

8297 8299-G

Combination Post Mount Industrial Track Mount Economy Track Mount
Part No. 8450-3 consists of: Part No. 8297 consists of: Part No. 8299-G consists of:
1 - S4402-A 1 - 4402-A switch set which includes 1-5412P-G
1 - M-4400 S-12 Small “I”’ Bracket 1 - M-402-G
1-S-202 1 3/8” - 2 1/2” dia. Fence 1 - 5-203 Garage Door Track 1 -S-200 Garage Door Track Bracket
Gate Post Bracket Bracket 1-4175 Large “L” Bracket
1-S-201 2 1/4”- 4” Fence Gate Post 4 - #699 nut, 6-32 x 5/16 Hex - 4 - #699 nut, 6-32 x 5/16 Hex - Zinc
Bracket Zinc 4 - #4186 washer, #6 external lock
4 - #699 nut, 6-32 x 5/16 Hex - Zinc 4 - #4186 washer, #6 external lock - zinc fed. Screw 1322
4 - #4186 washer, #6 external lock - - zinc fed. Screw 1322 4 - #4209 screw, 6-32 x 3/4 PH PHIL
zinc fed. Screw 1322 4 - #4209 screw, 6-32 x 3/4 PH (200L) machine screw - zinc
4 - #4209 screw, 6-32 x 3/4 PH PHIL PHIL (200L) machine screw - 2 - #735 screw, 8 x 1 self tap combo
(200L) machine screw - zinc zinc pan head type A steel/zinc plate
8 - #735 screw, 8 x 1 self tap combo 2 - #735 screw, 8 x 1 self tap 2 - #6231 screw, 6 x 3/4 sheet metal
pan head type A steel/zinc plate combo pan head type A steel/ combo panhead (for 1100) 40/B

zinc plate
2 - 6 x 1/2 pan head screws

8450-1 8450-2
Fits 2 1/4” - 4” Fence Gate Posts Fits 1 3/8” - 2 1/2” Fence Gate Posts
Part No. 8450-1 consists of: Part No. 8450-2 consists of:
1 - S4402-A 1 - S4402-A
1 - M-4400 1 - M-4400
2- 5201, 21/4” - 47 dia. Fence Gate Post Brackets 2 - 5-202, 13/8” -2 1/2” dia. Fence Gate Post Brackets
4 - #699 nut, 6-32 x 5/16 Hex - Zinc 4 - #699 nut, 6-32 x 5/16 Hex - Zinc
4 - #4186 washer, #6 external lock - zinc fed. Screw 1322 4 - #4186 washer, #6 external lock - zinc fed. Screw 1322
4 - #4209 screw, 6-32 x 3/4 PH PHIL (200L) machine 4 - #4209 screw, 6-32 x 3/4 PH PHIL (200L) machine
screw - zinc screw - zinc
8 - #735 screw, 8 x 1 self tap combo pan head type A 8 - #735 screw, 8 x 1 self tap combo pan head type A
steel/zinc plate steel/zinc plate
GEORGERISK INDUSTRIES, INC. R TOLL-FREE 1-800-445-5218 ¢ 1-800-523-1227
GR.I.PLAZA (308) 235-4645 * FAX (308) 235-3561
KIMBALL, NE 69145 S E-MAIL: sales@grisk.com

MADE IN U.SA. WEB SITE: www.grisk.com



TRACK AND GATE
BRrRACKET KiITS

SwitcH Not INCLUDED

8450-3Kit 8297 Kit

Combination Post Mount
Part No. 8450-3-Kit consists of:

1-S-202 1 3/8” -2 1/2” dia. Fence

Industrial Track Mount
Part No. 8297-Kit consists of:

1 -S5-12 Small “I” Bracket

Gate Post Bracket 1 - S-203 Garage Door Track
1-S5-201 2 1/4”- 4” Fence Gate Post Bracket
Bracket 4 - #699 nut, 6-32 x 5/16 Hex - Zinc

4 - #699 nut, 6-32 x 5/16 Hex - Zinc
4 - #4186 washer, #6 external lock -

zinc fed. Screw 1322

4 - #4186 washer, #6 external lock
- zinc fed. Screw 1322
4 - #4209 screw, 6-32 x 3/4 PH

4 - #4209 screw, 6-32 x 3/4 PH PHIL
(200L) machine screw - zinc zinc
8 - #735 screw, 8 x 1 self tap combo

pan head type A steel/zinc plate

PHIL (200L) machine screw -

2 - #735 screw, 8 x 1 self tap combo
pan head type A steel/zinc plate

2 - 6 x 1/2 pan head screws

8299-G-Kit
Economy Track Mount
Part No. 8299-G-Kit consists of:

1 - S-200 Garage Door Track Bracket

1 - 4175 Large “L” Bracket

4 - #699 nut, 6-32 x 5/16 Hex - Zinc

4 - #4186 washer, #6 external lock
- zinc fed. Screw 1322

4 - #4209 screw, 6-32 x 3/4 PH PHIL
(200L) machine screw - zinc

2 - #735 screw, 8 x 1 self tap combo
pan head type A steel/zinc plate

2 - #6231 screw, 6 x 3/4 sheet metal
combo panhead (for 1100) 40/B

8450-1-Kit
Fits 2 1/4” - 4” Fence Gate Posts
Part No. 8450-1-Kit consists of:

2 - 5-201, 2 1/4” - 4” dia. Fence Gate Post Brackets

4 - #699 nut, 6-32 x 5/16 Hex - Zinc

4 - #4186 washer, #6 external lock - zinc fed. Screw 1322

4 - #4209 screw, 6-32 x 3/4 PH PHIL (200L) machine
screw - zinc

8 - #735 screw, 8 x 1 self tap combo pan head type A
steel/zinc plate

screw - zinc

8 - #735 screw, 8 x 1 self tap combo pan head type A

steel/zinc plate

8450-2-Kit
Fits 1 3/8” - 2 1/2” Fence Gate Posts
Part No. 8450-2-Kit consists of:

2-5-202, 13/8" -2 1/2” dia. Fence Gate Post Brackets
4 - #699 nut, 6-32 x 5/16 Hex - Zinc

4 - #4186 washer, #6 external lock - zinc fed. Screw 1322
4 - #4209 screw, 6-32 x 3/4 PH PHIL (200L) machine

GEORGERISK INDUSTRIES, INC.
GRI.PLAZA
KIMBALL, NE 69145

BA-227 Rev E 10/23/2013

.

MADE IN U.SA.

TOLL-FREE 1-800-445-5218 « 1-800-523-1227
(308) 235-4645 » FAX (308) 235-3561

E-MAIL: sales@grisk.com
WEB SITE: www.grisk.com



	Blank Page



